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MAT 140, Fall 2021 — D. Ivansié Covers: 8.1, 5.2, 8.8 Show all your work!

Simplify, so that the answer is in form a + bz ok
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3. (4pts) Simplify and justify your answer.
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4. (8pts) The number of barrels of wine in the cellar of a winery is described by the function
S(z) = —z* + 24z — 8, where z is the number of days after September 17th.

a) On what dates did the winery have 120 barrels of wine in the cellar? 57.-53d
b) On what date did the number of of barrels of wine in the cellar peak?
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5. (8pts) Solve the equation: z* — 20%— 35 =0
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7. (12pts) The quadratic function f(z) = z? + 3z — 18 is given. Do the following without
using the calculator.

a) Find the z-intercepts of its graph, if any. Find the y-intercept.
b) Find the vertex of the graph.

c) Sketch the graph of the function,
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8. (12pts) A right triangle has sides of length 11 and 9 meters (neither is the hypothenuse).
We wish to add an equal amount of length to both sides so that we get a right triangle with
hypothenuse 16 meters. By how much should the 11- and 9-meter sides be lengthened?

: L 1 L
.. .__iu
1 1+ A "J@*E-?ax«f 6
21418 e | A
) 2356 [7%
x=—10% 127 Iy 4ox + 202 O.
. 5%-
Sk X>0, od =10- V7 €0 2 ts 40U %

HME {CMHUT E"" a Jog’r‘*’m‘ ¥ +?'£|'F" —2? O ;tm't-iﬂﬁ 4t2._,

3 -20 t [20=4-1:27) ~2Oi__l_§a3

[0+ = | 26942% P _L:;H <
027 Jm () e
- e

A




